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QUESTION 1

Select one statement which will cause a syntax error.

A. SELECT (SELECT item FROM sale WHERE id = 1);

B. SELECT * FROM (SELECT * FROM customer);

C. SELECT * FROM item WHERE cid IN (SELECT cid FROM customer);

D. SELECT * FROM sale WHERE name IN (SELECT name FROM names);
E. SELECT * FROM sale WHERE cid = ANY (SELECT cid FROM customer);

Correct Answer: B

QUESTION 2

The "animal” table consists of the following data:Select the correct result returned by executing the following SQL
statement: SELECT name FROM animal ORDER BY weight DESC LIMIT 2 OFFSET 1,

A. A syntax error will occur.

Correct Answer: A

QUESTION 3

Select one incorrect statement concerning the relational data model.

A. It expresses the real world in a collection of 2-dimensional tables called a relation.

B. It is a model based on set theory.

C. It has a logical structure independent of physical data structure.

D. It is made up of a multiple stage hierarchy where each of the set elements has parent child relationships.
E. It is a model that was proposed by E.F. Codd in 1970.

Correct Answer: D

QUESTION 4
SQL statements were executed in the following order.
CREATE TABLE book (

id VARCHAR(21), title TEXT NOT NULL, price INT,
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UNIQUE (id), CHECK (price > 0)

);

INSERT INTO book VALUES (\'4-12345-678-9\\', \'SQL book\\', 2300); --(1) INSERT INTO book (title, price)
VALUES (\'PostgreSQL\\', 3000); --(2) UPDATE book SET id = \\'4-12345-678-9\\' WHERE id IS NULL; --(3)
DELETE FROM book WHERE price

While executing, select the first location that generates an error.

A (1)

B. (2)

C.(3

D. (4)

E. No error is generated.

Correct Answer: C

QUESTION 5

Select one incorrect statement about the command shown below. Note: $ is the command prompt. $ dropuser -U admin
foo

A. If there is a database owned by foo, an error will occur.

B. If admin is not the owner of foo, an error will occur.

C. If admin doesn\\'t have the superuser privilege, an error will occur.

D. The user admin is removing the user foo.

E. The same process can be performed using the SQL command "DROP USER".

Correct Answer: B
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